
·
·
·
·
·
·

Index Author Date Description 0 > 400 = ± 1.0
400 > 1000 = ± 1.5

1000 > 2000 = ± 2.0

2000 > 4000 = ± 3.0
4000 > 8000 = ± 4.0
8000 > UP = ± 4.5

www.outdoorfabrications.com.au
1:200

BRADFIELD ENTRY SIGN

24/02/2025
BRADFIELD DEVELOPMENT AUTHORITY GA03- SINGLE FACE SIGN 

A

M9746
BRADFIELD ENTRY SIGN
GA-03 SINGLE FACE SIGN

#

12
65

8

12337

3695

14932

11323

10668

12660

98
6

5564

PLAN VIEW
SCALE 1:200

AutoCAD SHX Text
ALL DIMENSIONS IN MILLIMETERS.  ALL WELDS TO BE 6mm FILLET U.N.O. ALL BUTT WELDS TO BE FULL PENETRATION. ALL SHARP EDGES TO BE REMOVED.  FOR FURTHER PART DETAIL SEE INDIVIDUAL PART DRAWINGS. ASSEMBLY TO BE MARKED WITH ASSEMBLY No. IN POSITION AS INDICATED AT LOCATION OF #.  

AutoCAD SHX Text
DWG No.:

AutoCAD SHX Text
SCALE@A2:

AutoCAD SHX Text
PROJECT:

AutoCAD SHX Text
PROJECT No.:

AutoCAD SHX Text
CLIENT:

AutoCAD SHX Text
DETAILER:

AutoCAD SHX Text
REVISION:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
3rd ANGLE PROJECTION

AutoCAD SHX Text
GENERAL TOLERANCES:

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
TITLE:

AutoCAD SHX Text
REV. DATE:

Kevin.FDR
Typewritten Text
UNDERGROUND POWER CONDUIT  

Kevin.FDR
Typewritten Text
UNDERGROUND WATER PIPE

Kevin.FDR
Callout
SINGLE SIGN FACE 
12660mm X 3350mm

Kevin.FDR
Line



Mark Qty.  Description Length Grade Finish Part kg Total kgDrawing Number
10SP-1 Static Panel 143 Duragal Zincanneal 0.22 1.34300
1SP-2 Static Panel 143 Duragal Zincanneal 0.22 1.34300
1SP-3 Static Panel 143 Duragal Zincanneal 0.22 1.34300
2C-1 Column 5968 300+ Galvanised 302.58 302.58340
1C-2 Column 5968 300+ Galvanised 302.58 302.58340
2CW-1 Catwalk 6181 300+ Galvanised 87.77 87.77340
2CW-2 Catwalk 6181 300+ Galvanised 87.77 87.77340
2G-1 Gate 450 300 Galvanised 2.64 2.64480
3HOR-1 Horizontal Rail 6289 C450L0 Galvanised 105.03 105.03340
3HOR-2 Horizontal Rail 6289 C450L0 Galvanised 105.02 105.02340
2HR-1 Handrail 5236 C250L0 Galvanised 12.60 25.21480
2HR-2 Handrail 6146 C250L0 Galvanised 14.79 29.59480
2HR-3 Handrail 1023 300+ Galvanised 6.01 12.01480
2HR-5 Handrail 1023 300+ Galvanised 6.01 6.01480
2HR-6 Handrail 1023 300+ Galvanised 6.01 12.01480
4KR-1 Kick Rail 1000 300+ Galvanised 8.22 8.22340
4KR-2 Kick Rail 4889 300+ Galvanised 40.19 40.19340
1L-1 Ladder 3532 300+ Galvanised 14.41 28.82460

12SA-1 Seating Angle 250 300+ Galvanised 2.62 2.62340
6SA-2 Seating Angle 400 300+ Galvanised 4.20 4.20340

10SP-1 Static Panel 3509 Zincanneal Galvanised 41.58 41.58300
1SP-2 Static Panel 3509 Zincanneal Galvanised 41.58 41.58300
1SP-3 Static Panel 3509 Zincanneal Galvanised 41.58 41.58300
2TA-1 Trim Angle 3330 300+ Galvanised 4.76 4.76340
2TA-2 Trim Angle 2670 300+ Galvanised 3.82 3.82340
1TA-3 Trim Angle 6300 300+ Galvanised 9.01 9.01340

Combined Total 2884.34

·
·
·
·
·
·

Index Author Date Description
A MM 19/03/2025 ISSUE FOR APPROVAL

0 > 400 = ± 1.0
400 > 1000 = ± 1.5

1000 > 2000 = ± 2.0

2000 > 4000 = ± 3.0
4000 > 8000 = ± 4.0
8000 > UP = ± 4.5

www.outdoorfabrications.com.au
MM 1:10,1:5,1:75

Bradfield Single Entry Sign 

19/03/2025
Bradfield Development Authority GA-01

A

M9779 SINGLE STATIC SIGN

19/03/2025
#

ISOMETRIC VIEW
SCALE 1:75

REAR VIEW
SCALE 1:75

PLAN VIEW
SCALE 1:75

SECTION A - A
SCALE 1:75

248 801 180 450

63
40

1099 5087 5087 1099

12660

1243 5087 5087 1243

GROUND LEVEL

27
00

29
90

33
50

29
90

23
00

10
32

ACCESS LADDER
TO GANTRY LEVELS.
GANTRY ENTRY POINTS FITTED
WITH SELF CLOSING GATES

A

A
5087 5087

12660

29
90

33
50

NOTES:

ALL STEELWORK AND HD BOLTS TO BE HOT DIP
GALVANIZED TO AS2312 POST FABRICATION

THIS DESIGN IS SIMILAR TO THAT SHOWN ON
PROJECT# M9746 - DRAWING# GA02

HR-3,HR-6

HR-3,HR-6

HR-3,HR-6

HR-3,HR-6

C-1
C-2

C-1

CW-1

CW-2

CW-2

CW-1

HR-1
G-1

HR-2
HR-2

HR-2
HR-2

G-1
HR-1

750Ø PIER @2700
INTO STIFF CLAY 
7-N20 VERTICALS WITH
N12-300 TIES
F'L=25 MPa MIN
65mm MIN COVER

TYPICAL BASEPLATE
SCALE 1:10

750

375 375

37
5

37
5

55
0

40
23

5
23

5
40

200 350 200

40 135 135 40

10
0

40
47

0
40

10
0

350x32 PL
6 - M24 8.8/S
350 MIN EMBEDMENT
40mm NOMINAL GROUT 

TYPICAL RAIL CONNECTION
SCALE 1:5

TYPICAL CATWALK CONNECTION
SCALE 1:5

1.2 PL STATIC
PANEL

360 UB 50.7
COLUMN

150 UC 23.4

65x65x6 EA
HANDRAIL 
STANCHION

2 - M16x45 8.8/S

FM14 FLOORMESH
(NOT SHOWN)

125x75x10 UA
TYP CATWALK
SECTION

2 - M16x40 8.8/S

90x90x6 EA
FALL PROTECTION 
PLATE

100x100x8 EA
CATWALK SUPPORT

2 - M16x45 8.8/S

2 - M12x40 8.8/S

360 UB 50.7
COLUMN

1.2 PL STATIC
PANEL

75x75x10 EA SETAING ANGLE SA-1

2 - M16x50 8.8/S

75x75x10 EA SEATING ANGLE SA-1

2 - M16x50 8.8/S

125x75x6 RHS
HORIZONTAL 
RAIL

FPBW TO TOP
AND BOTTOM 
FLANGE

2 - M16x170 8.8/S

100x100x8 EA
RESTRAINT ANGLES 
@2000mm MAX
6mm FILLET TO CATWALK

SP-1 SP-2 SP-1 SP-1 SP-1 SP-1 SP-1 SP-1 SP-1 SP-1 SP-3 SP-1

AutoCAD SHX Text
ALL DIMENSIONS IN MILLIMETERS.  ALL WELDS TO BE 6mm FILLET U.N.O. ALL BUTT WELDS TO BE FULL PENETRATION. ALL SHARP EDGES TO BE REMOVED.  FOR FURTHER PART DETAIL SEE INDIVIDUAL PART DRAWINGS. ASSEMBLY TO BE MARKED WITH ASSEMBLY No. IN POSITION AS INDICATED AT LOCATION OF #.  

AutoCAD SHX Text
DWG No.:

AutoCAD SHX Text
SCALE@A2:

AutoCAD SHX Text
PROJECT:

AutoCAD SHX Text
PROJECT No.:

AutoCAD SHX Text
CLIENT:

AutoCAD SHX Text
DETAILER:

AutoCAD SHX Text
REVISION:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
3rd ANGLE PROJECTION

AutoCAD SHX Text
GENERAL TOLERANCES:

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
TITLE:

AutoCAD SHX Text
REV. DATE:


	Sheets and Views
	A2 Advance Steel

	GA03- BRADFIELD- SINGLE FACE SIGN Site Plan.pdf
	Sheets and Views
	A2 Advance Steel





